CosyLifeStyle®

Manual
for
Gazebo San Bruno
4,35x4,35m



4, 35x%x4, 3bm assembly instruction book

1/11



Packing list

NO. | Pcs NO. |Pcs shape

A 8 pes G2 | 8pcs 'i;;\;

B1 | 2pcs H1 | 4pcs /K\
B2 | 2pcs H2 | 4pcs g@

C 2 pcs I 6pcs L

D1 | 4 pcs % 11 4 pcs %,

D2 | 4 pcs Eff:::::zlﬂiI::::::jfT 12 2 pes

E1 | 2pos x J | 1pes

E2 | 2pcs éEZ:::::::::::f%%E::::::::::::;; 1| Tes ZTAy

F 2 pcs g;::::::::f%féi::::::::;g J2 1 pcs <§§3>

G1 |8pcs EEsssgg;;;;§§§$;;;§§§§§§§ﬁ K1 | 12 pcs — >

2/11



Packing list

NO. | Pcs shape NO. |Pcs shape
K2 12 pcCs N Q1 4 pcs //I
485 |
2 |4
L 4 pcs r o4 7 Q pcs %
M1 | 4 pcs M= —. R1 | 4 pcs
W

M2 4 pcs ‘\?" oed R2 4 pCs %

N | 6pes T es5, il T1 | 6pcs é
O1 | 12pcs @

02 | 6pcs B

o1 | 4pos é

P2 | 4 pcs %

3/11



Packing list

NO. Pcs shope NO. Pcs shape
U |6 pcs E U1 |4 pcs
L\ (I AWA]
i
Screw fittings
NO. Specification Pcs
a M6X16 135pcs @ﬂmﬂ
b M6X35 146pcs @Dﬂﬂﬂﬂﬂm
V1 | 2 pcs c Hook 2 | 1pcs | =—9)
d M6X80 | 9pcs i TINIIIIITD
e M6 22pcs ®
165 f M4.2X40 | 10pcs r—
2§§§§§§§§§§§§§§§§§§§§E§§? g | M4x4 | 40pcs | [m
W 2 PCS \ 11992 h M4 40pcs
: [ 40pcs =)
o\ 1) ) -
Z |4 pcs d}‘» J M5X20 10pcs o T1))
)
Z1| 4 pcs Lv

4/11



B2




V1

6/11




G1 G1 G1

|

7/11






9/11



--X*Attention direction

R2

Q2

Q1

| U

Q2

Q1

10/11



11/11



DANCOVER®

Contact information

Austria

Estonia

Belgium

Norway

m]xhix =
- BT
i
Bpcd

Sweden

m ;I,:_,:':ﬁ -'-
m] | e

Croatia

France

o7

o g
|':!":"'=-'al' -
O [t

s

Denmark

o

Sl

Germany

Lithuania

For more information please visit: www.dancovershop.com




